Unit 10, Week 3, Lesson 2

IHalf as wide = cm. This book is 24 cm wide. Twice as wide = cm.

Carly wants to know the widths of all her ribbons. Can you help her find out?

Half as wide = cm. This ribbon is 6 cm wide. Twice as wide = cm.

Bobby wants to know the widths of the strips of paper. Can you help him
find out?
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This strip of paper
Half as wide = cm. is 50 cm wide. Twice as wide = cm.
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1'\1 Children work out the widths of the objects above by halving or doubling the width of the middle object. |
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